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+48)=(-8) 1P (-2-(-7 B9 (48)-(+6)
= -4 = +5 =+
(+7)-(-6) 18 (~9)+(+5) BD(~8)+(-6)
= +13 = -4 = -14
(-N-(+2) 19 (~6) = (+2) 9 (+5)-(-5)
= -9 = -3 = +10

(+2) X (-7 O (L)~ (+6) GO (+18) = (-6)
- -14 - -8 = -3
(-6)+(+2) CO 1)+ (+3) P (1) = (-2
- -4 = -6 = +8
(+6)-(-3) @D (+8)+(+6) B8 (+49) = (+7)
= 49 = 414 = 47
(-2)-(-6) @Y (+5) X (-2) G (+3)-(-4)
= +4 - -10 = 47
(+3)+(+8) @D (+4)+(-8) U0 (_35) = (+5)
= 411 = 4 = -7
(+3)-(-7) @ (+8)+(+3) WO DX (-7
= +10 Sl = +49
(-2)+(+9) O (49)-(-4) 42 (L12) = (-3)
= +7 = +6 = +4
(+6)+(+2) @D (9)+(+9) 4 (+5) X (-7
= +8 = 0 - -35
(+3)+(-4) @& (“2) X (+6) O (+5)-(-7)
= -1 = -12 = +12
(-5)+(+5) @D (-63) = (+9) W (~e) = (-D)
= 0 = -7 = +3

(+6) X (-8) GO (_8)-(-6) 4O (_5)+(+9)
= -48 = -2 = +4
(+5)+(-7) GV o= W (DX
= -2 = -3 = -14

(-7) X (+6) B2 (-5)+(-5) “O (+4)+(+3)
= 42 = -10 = +7
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(+5) X (-3)
= -15

(+28) ~ (-4)

(+7) X (-4)
= -28

(+8)-(-9)
= +17

(-6) X (-2)

(+9)-(-2)

= +1]
(-2) X (+2)
= -4
(-12) = (+2)
= -6
(+9) X (-6)
= -54
(+15) +(-3)
= -hH

(-7 X(-2)
= +14
(-8) X (-6)
= +48
(+5)+(-3)

= +2
(+D+(+2)

= +Q



